M => C’r@pjrc - Q’@pﬁ:‘r Téa +

Multiple. Cbof_cc-:}
1. Which coniecture about the produc,'\‘ o€ Hhree
odd in%ca&rs Seems most reasonable ?

Q" T4+ willbe anodd fﬁ'\tﬁer.

OPJHC-T“] = L
8‘1&‘,5

2,. Which coniecture about Hhe (nterior an
in Q thann Seems most reasonable ?

Qph'om =5 . T‘r#\f:,ir SUM S Q\Wa\js 120°



3. Rgiﬁ-?ea%—her noticed +he followinag -
" 1324322 = &l '1"!63432_,"1‘39_)?3‘:1612)) 435432733 264
i R 13
and |12_{1‘r.1 = 24 589G , 17{2{ 172= 15632, 17;15112*—* I3 244

Which Conjecture Miaht %‘m‘?m%-her make
from +his evidence ? 915—\- 'S reasonable ?

OD'\‘I'OH =3 A ! Ah\; Siﬁ("c\féi'\' number .
composed of three repeating
df8{+s (s divisible by 7,11,
and 13; es,+his s reasonable.

4. Which fiaure is o Counterexample To the
C;Oru‘e:c"ru‘rﬁ. AN Po‘.\‘; oOnNS WitTh ey \Cj‘ﬁ-‘r ficlmjo.\
Sides Qxe rf:gu\av %(Qﬁrﬂgcns" ?

|

Cpiion => B Fifjufe, 1T Qﬁ\ﬂ .



S. Which choice provides a Counterexample

To the conjcc-\-uve "When VJou divide one
wWhole number by anothetr whole number,
The quotient wWill” be 8rca+e,r Hhon the
divisst aond \ess +har the dividend ! ?
— /clividend

Option=> 1 &7 =015 but not L=
%\ C{':_tcﬁcw*'

divisor



6. A Kangaroos are marsupials-All
mMmarsuptals are mommals . Al mammals
are warm- bleoded . Ginaer Jack is Q
Kangaroo. Whot can beYdedyced Qbou+
Gmger Jack ?

1 F I ——
Oerton = Ginaer Jack (s
- Warthn—-olooded and a
Mamma .

7. What +yp e of exrcor ‘.‘(;QT\.S oOCCcuUrsS in
‘e @Q‘LJOWIT\S dedultion ‘3

“ﬁﬂ eople Who work do so from 9 a.m.
éb M. . With one hour for lunch.
B\\‘L \NOTHS so he works from Qa.m.
To S pm. "
1 W
OP'\‘{O\‘\ => A A false assumplion
or Scntmhm-\-xon



3. \Whaot pe of error, i § any,; occurs
in the € \lowing proot ?

Suppcwae. +hot . at+bh=cC

Then . (Qo-3)+ (4o-3p)= &ce-3c)

Reorogniz.e | datiibh-He= Sa +3b -3¢

US‘ﬁﬁS istri bution 4lcroO) = 3(arb-C)
4 =73

OP'\“iQﬁ:? | AN €Yo in Teasoning -

(division ‘D:j Q)



A. Detrermine +he unknown Fermin each
pgﬁerh.

""* x4 x4 X 4 X 4 x 4
Remember
) | ) , , 100, 20, . 25 = x 1
\Z AN \_.,.,.7' \._./1 \.J‘J
=5 =5 +~5 =S =5
c) 14,28, 56,112, 48, 396



1O, Which number shou \d
Cjﬁ,w in cach square of
s Sudoku Duzzlﬂg

Q) Square A=_1__
) square Bh S
C) 8Quowﬁi C=.6_

4} Sqlare D=2




3)05&4 O@re_c Qv dm‘scﬁrrcc with the tollowin
Conmjectuares ? Justifuy Jour decisions wi¥h
X a counterexample 1+ Hodsible.
a) The sum of a multiple of S and amulttiple
of 19 will be an odd number.

T disagree With +tnis conjecture.
( Quhﬁrcxomlb\e.i O + 30 = 40
Y Y .u

b) The sum ofa multiple of S andamultiple
of 19 Wil be an even number.

T disaaree with s contecture .
@uﬁ-\—er xample? |5+ 60O ="5
L \f] %

nuliple. ODD
piora i



12 . I tis equation, X is on integer, whaot does
+he cquation prove ? Support jour answer
Wwith a Specitic example.

%+ (6 1)+ O 2) + (X3 (X 4) +(X+8)+ (X+6) = Jx+2l
1 <0
T X represents anywWhole number then
This equation provesthat +he sum of
Seven Consecutive numbers 1Is divisible

bj 1.
EXCH“Y\Q‘\F_.E 1+ 2+J3+ 4+ Y6 +1 =28

W
281=4%



| 3. DO\ ou aoree or disaqaree with the {ol lcwinﬁ
Cony c.c:r‘rur P JushF your decision with
Q c;csunJreraxclmpic = Ppossi1ble.

"Forensic Scientrists will always discover
c:hou@)h evidence tTo Convict the qui ry
persdn, because +hat s What happens
onN 4r€:\c\n:-3\or1 !

Iﬂdit‘:q e With s Con\jec+ure-
(cunterexample ¢ TelevisioOn shows are
not alwoys realishc.
Ax a reol-ITFe Crime
Scene ,There might not
be emcuah evidence to
PYoVE +h_ + Somecone 168\4 %51



14, Form o conclusion based onthe Fo\\owma\ |
Statrement. Explain Whether Jeur reasonihg
Was inductive or deduchHve. )

\:‘ AW marsupials have pouches.”
Hcmgqroos are marsupials !

m Kamgqrms have pouches.

Deductiv 6 3}:{1 Soni F\8

5. (entinue the Stoqtt’.hcti S, 14,23,32, 4. ..
b\}} Two terms. Explain whether \Jour
Fﬂ&ﬁ@nma was inductive or deductive.

3,114,323 ,32,41, 50 59 =T rduckive

=l R I Reasoning



	Page 1
	Page 2
	Page 3
	Page 4
	Page 5
	Page 6
	Page 7
	Page 8
	Page 9
	Page 10
	Page 11

